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General Instructions :

(i) Please read the instructions carefully.
(ii) This question paper consists of 24 questions in two Sections : Section A and
Section B.
(iii)  Section A has Objective Type Questions whereas Section B contains Subjective
Type Questions.
(iv)  Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.
) All questions of a particular section must be attempted in the correct order.
(vi)  Section A : Objective Type Questions (30 marks) :
(a) This section has 6 questions.
(b) There is no negative marking.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
(vii)  Section B : Subjective Type Questions (30 marks) :
(a) This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
SECTION A
(Objective Type Questions) (30 Marks)
1.  Answer any 4 out of the given 6 questions on Employability Skills. Ix1=4
(1) You need to apply for leave at work. Which method of communication
will you use ?
(A) E-mail
(B) Poster
(C) Newsletter
(D) Blog
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(i)

(iii)

(iv)

v)

(vi)

~_individuals are assets to the world, their country, their
families and to themselves.

(A) Self-confident

(B) Self-motivated

(C) Self-obsessed

(D) Self-praised

Following are the common personality disorders, except :
(A) Paranoid

(B) Social

(C) Borderline

(D) Obsessive

How can you select the entire worksheet using a keyboard ?
(A) Control +P

(B) Control +B

(C) Control + A

(D) Control + R

Sam knows what business he wants to do but does not know what steps he

has to take to get it running. The barrier stopping him is L
(A) building the right team

(B) lack of plan

(C) risk taking

(D) Both (A) and (B)

How does a green economy help human development ? (One point)
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2.  Answer any 5 out of the given 7 questions. SxI=5
(1) For obtaining which among the following does a customer not require a
bank account ?
(A) Loan (B) Cheque
(C) Banker’s Cheque (D) Credit Card

(1i1))  The banking service in which the customer can conduct banking activities
like managing savings and checking accounts, applying for loans, etc. over
the Internet 1s called :

(A) Online Banking (B) Offline Banking
(C) Internet Banking (D) Computer Banking

(i11)  Clearing house sends the cheque to the payer’s bank for

(A)  depositing (B) paying
(C)  collection (D) clearing

(iv)  How does inflation affect the market interest rate ?

(v)  Name the policy related to direct taxes and government spending.
(A) Monetary Policy (B) Banking Policy
(C) Financing Policy (D) Fiscal Policy

(vi)  Name the book which is maintained as the book of original entry in

accounting.
(A) Ledger (B) Journal
(C) Passbook (D) Cheque Book

(vit)  Which mode of funds transfer takes the longest time to transfer money to

the payee ?
(A) Cheque (B) NEFT
(C©) RTGS (D) ECS
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3.  Answer any 6 out of the given 7 questions. 6x1=6
(1) For paying which among the following will a bank standing order be
suitable ?
(A) Telephone bill (B)  Electricity bill
(C) Grocery bill (D) Mortgage repayment

(i1))  Mobile wallets provide which kind of services to the society ?
(A) Sending and receiving money
(B) Making payment to merchants
(C)  Online purchases
(D) Online sales

(111)  Who is responsible to hold periodical meetings of all staff members to

discuss the bank’s performance with the higher authorities ?

(A) Manager (B) Cashier
(C) Agent (D) Teller
(iv)  Interest collected by the bank on a loan is for the bank.
(A) expense (B) income
(C) profit (D) loss

(v)  Incase the SLR ratio is increased by the RBI, inflation will
(A) Increase
(B) Decrease
(C) Have no impact

(D) Have slight change

(vi)  Debit and credit are in different colours for easy

identification and processing.

(vil)  State any one duty of a bailor.
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4.  Answer any 5 out of the given 6 questions. SxI=5
(1) In India, introduction of using image of the payment instrument for

clearing is known as

(A) Cheque transaction
(B) Cheque clearing

(C) Cheque settlement
(D) Cheque processing

(i1))  The invader creates a false context which misleads you in making an

unsuitable security-appropriate decision. This is called :
(A) Phishing

(B) Spoofing

(C) Skimming

(D) Fishing

(ii1))  Bank operations are segregated into areas.
(A) two
(B) three
(C) four
(D) five

(iv)  When the fixed loan comes nearer to its maturity, the interest amount on
the loan

(A) increases
(B) decreases
(C) remains same

(D) depends on the market

(v)  What is the minimum interest rate of a bank called below which it cannot

lend, except in cases allowed by the RBI ?

(vi)  List any two examples of operating expenses.
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5.  Answer any 5 out of the given 6 questions. SxI=5
(1) This type of guarantee gives an assurance that the goods ordered would be

delivered as agreed.

(A) Financial guarantee

(B) Bid bond guarantee

(C)  Guarantee for warranty obligation
(D) Deferred payment guarantee

(i)  How many hours do the ATMs work in a day ?

(A) 8
B) 12
(C) 16
(D) 24
(ii1) office carries out the transaction processing for the bank.
(A) Front
(B) Central
(C) Back

(D) Both (A) and (B)
(iv)  EMI stands for

(V) The standard rate at which RBI is prepared to buy or rediscount bills of

exchange or other eligible commercial paper from other banks is called :
(A) Bank Rate

(B) Repo Rate

(C) SLR

(D) Interest Rate

(vi)  What is meant by Voucher ?
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6.  Answer any 5 out of the given 6 questions. SxI=5
(1) A contract of is a contract to perform the promise or

discharge the liability of a third person in case of his default.
(A) guarantee

(B) warranty

(C) payment

(D) Both (B) and (C)

(1))  State the meaning of e-banking.

(iii))  The cabin has to be as far away as possible from the
entry/exit points of the bank.
(A) Manager (B) Vault
(C) Cashier (D) Both (A) and (B)

(iv) A drew a three month dated bill which was drawn upon B for ¥ 3,600 on
1 July, 2023. The maturity date of the bill will be :

(A) 1% October (B) 2" October

(C) 3" October (D) 4™ October

(v)  Minimum Reserve System principle refers to
(A) Currency note issue
(B) Reserve levels to be maintained by the banks
(C) Minimum Reserve Ratio

(D) RBIreserve levels to be maintained

(vi)  Pay-in-slips are used in banks for money.
(A) withdrawing

(B) depositing
(C) transferring
(D) Both (A) and (C)
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SECTION B
(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5 questions on Employability Skills. Answer each question

in 20 — 30 words. 3x2=6
7.  Why is communication treated as an important element of one’s personality ?

8.  List any two points of importance of self-motivation.

9.  How is the Excel program a fruitful tool in the hands of bank employees ?

10. State any two characteristics of entrepreneurship.

11. What is green employment ?

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. Do you think credit cards are playing a vital role to improve business ? Give any

two reasons in support of your answer.

13. State the meaning of WAP. State its any two uses.
14. What is the need for segregation of the different areas of the bank ?
15. Is Bank Rate the same as Deposit Rate ? Give reason in support of your answer.

16. What do you understand by Non-Performing Assets of a bank ?

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17. Explain the precautions to be taken while doing Internet transactions.
18. Which office of the bank is known as the revenue generator and why ?

19. What is the difference between fixed and floating rate of interest ?
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Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. Give the format of the Balance Sheet of a banking company showing its main

headings only.

21. Explain the Branch Manager’s duties as a Retail Banker.

22. Rohit deposited T 1,60,000 in PNB @ 10% p.a. interest compounded annually for
3 years and Anil gave ¥ 1,60,000 to his friend @ 10% p.a. simple interest for

3 years.

(a) How much interest amount will be received by Rohit and Anil,

respectively ?
(b)  Who will get more money at the end of three years ? Give reasons.
23. Briefly explain the goals of monetary policy.

24. Neeru’s grandfather who was unwell, called her and gave her a gift packet. She
opened the packet and saw many crumpled share certificates inside. Her
grandfather told her that they have been left behind by his late grandfather. As no
trading is now done in physical form, he explained to her that for doing transactions

in shares she will have to open an account with depository.
(@)  Name the account which is opened to do the transaction.
(b)  Identify and state the process.

(c)  Give two reasons why shares in physical form had been stopped.
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